//
// Z-WING2025 PIC12F1572 (C) 2025 inakakoubouKANAI
/!
#include <xc.h>

#define  XTAL FREQ 16000000 //delay ~ 7 = /] 16MHz

//ICONFIG
#pragma config FOSC = INTOSC  // W72 & v 7 ffi ]
#pragma config WDTE = OFF // Watchdog Timer % &%)
#pragma config PWRTE = ON // Power-up Timer % A %)
#pragma config MCLRE = OFF //MCLR 1%, 7Y Z/NJj  WHT VDD I[Z#fi
#pragma config CP = OFF [ A= R7 a7 s MNIEY)
#pragma config BOREN = ON I 7707 o ML, AR

unsigned int GYRSENTER; /GP5 ¥ ¥ A =D ==— s 7 /U
unsigned int GYR;  //GP5 ¥ A unb D AINE T
unsigned int SRV;  /GP4 ZAGHE D OV —RE 5
unsigned int GS; /[ —H )

unsigned int j; "o —7

unsigned int GYRO;

unsigned int SRVO;

unsigned int GYRMAX;

unsigned int GYRMIN; }

[[mmmmmmneee FS DA PN QURbIN N ot 7 EEEEE————

void out_steering ()

e T, X7 Z—iliEH

/==
i{f (GYR>GYRMAX) MPIC] — J[ = o &AL, LS /12 A D,

} GYR=GYRMAX; /¥ ¥ A v TEEKIZHEMA Z i 7w
i{f(GYR<GYRMIN)
GYR=GYRMIN; /¥ ¥ A v TEEKIZAEMA %2 FiF 2w

/=, SPICL — [ - [ EEAFC L. TNLSNT /12 AN5,
GS=SRV-GYR+GYRSENTER;
/== XPIC[ =] . [EEHMIL. ZRLANT /12 A5,

GS=SRV+GYR-GYRSENTER;

/73 —HiE

/] e e

TN SPIC: ][ [ -~ o E&EFEZhT L., =NLSNT /12 AN,
GS=SRV;

// “« o
if (GYR <= GYRSENTER ) {
GS=SRV+(GYR - GYRSENTER) *2;

XPIC - D EEFHZ L., TNLSNT 12 A,

/]
if (GYR <= GYRSENTER) {
GS=SRV + (GYRSENTER - GYR)*2;

XPIC: DL AL, ThESMT 12 AND,

/A
if (GYR >= GYRSENTER ) {
GS=SRV + (GYRSENTER - GYR)*2;

XPIC: - EHMZ L, ENLSMNT /&2 A5,

/]
if (GYR >= GYRSENTER) {
GS=SRV+(GYR - GYRSENTER) *2;

XPICL: DL ZHMZ L, TNLSMNT /&2 Ansb,

/1




=0 '
GS=(unsigned int) (GS*1.05+0.5); //==— b FNLAfIE
RAO=1;

\%vhlle (J<GS)

J+ .
}_delay us (4) ; //H VRS

[

{{AO=O;

112 % A v FIHIE
\Eoid read G()

GYRO0=0;
while (RA4==1);//> ¥ A vl 585 £ THD
while (RA4=0); // v A 215 5d 5 % T

\Evhile (RA4==1)

GYRO++;
delay us(6);

GYRSENTER=GYRO;
GYRMIN=GYR0*0.95;//2 ¥ A & TR & 2 i/ MEF
} GYRMAX=GYRO0*1.05; //> ¥ A 1 TZhHENH D KAEA

11 % A v DA 5 & wite
\{/01d read 2 ()

GYRO0=0;
while (RA4==1); /[ 5 )i 5 £ TH>
while (RA4==0); /5 && % £ T/
w%nle (RA4==1)

GYRO++;
delay us(6);

GYR=GYRO;

}
Y =R D55 &wite
\{zoid read 10

SRV0=0;
while (RAS=1): //{Z B-HI % £ THH
while (RA5 ==0); /fE %% 5 £ T
v{vhile (RAS==1)

SRVO0++;
delay us(6);

SRV=SRV0;

void mix_2to1 ()

__delay ms(10000); /IELWY ¥ A 25508 KDDEFFD
read G();
read GQ);
GYRSENTER= (unsigned int) ((GYRSENTER+GYR0) /2+0.5) ;
\?]hlle (1)

/N BIH O
read 10);
out_steering () ;
/12181 H D é
read 20);
out_steering () ;



}
}

void main (void)

VAR DEE i
OSCCON=0b01111000; //7 v 7 A% 16MHz [ZfRE
TMRO0=0x00; /1R H1E 0 o )
ANSELA = 0b00000000; /2 TDOE L Z2F VX NLE— NIIHRE
OPTION_REGbitsnWPUEN=0; // AJJEL DT NT v 7L % fRhe
OPTION_REG = 0b00000010 ; )

WPUA=0x30; /IGPSAZT T v T ARTE

TRISA = 0b00110000 ;  //4i7>5 RAO,RA1,RA2,X,RA4,RA5 4,5 & AN T)
INTCON=0x00;  //EIV AL A T]

PORTA =<§)boooooooo; /I e DL (2T LOW 127 5)

mix 2tol ();

\}Nhil_e(l) {}



